Algebra 1: 12.5 Guided Notes Name Period
Special Products

Learning Goals:
‘ 0' To identify and factor the difference of two squares.
To identify and factor perfect square trinomials.

To find the solutions to quadratic equations by factoring.

Notes (Page 752)
1. Multiply the binomials.

=1
a. (x-4)@x+4=__%K d,./ o or Trinomial?

(x+4)(x+4)= 1% 4{3/’)6 +1b Bipsnyiall o

i

(x-)x-4=_ K2 - Ex + 1C Binomial or
b. Bx-1)Bx+1)= Qx* -1 or Trinomial?
Gx+1)(Bx+1)= DQrz + Gx + | Binomial or@

(Bx-1)(Bx-1) = Ax* - Gx+ | Binomial or (Trinomial? )

2. What patterns do you see? Hint: Look at the “+” and “-“ signs? : . .
The OW? difference in the iﬁ'}" set o]c bingmuals is a sian change,
The 29% st and The 3 5ot of binonwuals are the came The midcle
term of Tl ?Oljnawm'al has e sanie Sign as the set of

binowiials. There is no wiiddle feem iatie Ist sef because e

nner + outer tecans Cancel each other owt-,
3. Multiply these binomials. Do you recognize the pattern?

(@x-bax+b)= ___dy* -b* Difference of Mo Squares

@+ B+ byor @+ bp = 2 x%edabx +b<  Perfect Square Trinontial (+)

)
(ax - b)(ax - b) or (ax - b)2 = ale'o?&bxv‘bz’ PCV‘-F@G" Sﬂ@uare 7—"1'3”70)’?/1/‘&1} =D

Save these Hforpaulas !

4. Group the quadratic equations in #1 into two categories: the Difference of Two Squares or Perfect
Square Trinomials.

Difference of Two Squares Perfect Square Trinomials
(x+4)(x-4) = x*- 16 (x+4)x+4) = x%+ Ex+ 16
(Bx+1)(3x-1)= x>~ | (x-4)(x-)= x>-§x +16

(3x+1)(3x+1) « G2+ Gx+]
(3% -D(3%-1) = D= Gx +|




5. Factor each difference of two squares.

a. ﬂiii (x+2) (x-2)
b.\l;2—9= (2% +3) (2x-3)
o po16= (XF+(x*-4)

Some expressions can be factored even further! If so, keep factoring!
(x4 -16) = (x2 + 4)(x2 - 4) = (x2 + 4)(x +2)(x - 2)
Factor —
(-9 = (24 @2 -3p) = (KT AT () (X 4
o

FeCfor,

S

-s"

6. Try to factor x2 + 49. What do you get?
T+ cannot e factored . betause fruce is a “+" gign,

7. Factor each perfect square trinomial.

2+10x+25=_ (X +5) (X +5) or___ (x+5)%

2-2dx+1a4=_ (K - 12)(X - I2) or_ (x-12)°

s 20xs 5= (Rt 5N AX+5) o (Rx+5)T
gor sem-sex+9=_ A(Hx* -y +1) = 01(0276—'3(2% D

Sy &e q -

w‘\' ‘. F 4 / /
il 2 IV /
8. Calculate the roots of each quadratlc equatlon '

a x2-12x+36=0

(-6)(x-6) =
X -6=0
Y =6

b. 9x2-25=0
(3% +5)(2x-5):0

3%+ 5:0 or Gx-5=0

x5 3“:i
= %:__
x: 2 3



9. Calculate the zeros of each function.
a. f(x)=25x2+20x+4
(5x +2)(5%x+&)=0

bx+X =0
Hyxz ~od
- T2
x &

b, f(x)=9x2+1
Coannot b Loctored,
Tl/ufc avt WO f@at Zeps

¢ f=9-dxv16r —> (Gx*- 29 + T (stanclacd Do

(dy -3)(4x -3) =0
4y -3 =0
Ay =3

=
\
Y



